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Integers (y3)

three million, nine hundred and twenty-six thousand,
four hundred and seventy-one

3 926 471

Negabive (y4)

3 926 000 4N
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equals greater than less than —2 ke When we add a
| 1 o positive number to a
26 +38=8x8 223 873 > 98 256 901198 < 1091098 .
0 negative number, we
Both calculations have The number on the left has 2 hundred The number on the right has 1 -1 count upwclrds towards
the value 64. thousands and the number on the right has million and the number on the © Zero.
0 hundred thousands. left has 0 millions. — -2 _'E_j
O 2+5=3
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positive number from a

Rounding to the nearest 1000

Rounding to the nearest 100 000

2000 +¥——— 2499

2500 » 3000

200 000 <t 249 999

250 000 ———» 300 000

round down

Rounding to the nearest 10 000

round up

round down

Rounding to the nearest 1 000 000

round up

20 000 +—— 24 999

25000 ———» 30 000

2000 000 =—— 2 499 999

2 500 000 ——» 3 000 000

round down

round up

round down

round up

negative, we count

down away from zero.

-1—-3=-4



